Pe3yabTaTsl 1000M/1€HHOTO Kpocca «3o0s0Tast oceHb — 2012y

1 — e KJ1AaCCHI

1 mecTOo — 1a
2 MmecTo — 10
3 mecTto — 11
4 mecTo — 1B

2 — e KJaccChl

1 mecTO — 22
2 MecTO — 20
3 mecTO — 2B

3 — e KJ1acChl

1 mecToO - 3a
2 mecToO - 30
3 mecTO - 3B
4 mecTo - 31

4 — e KJacchl

1 mecTOo — 40
2 mecTO —4r
3 MmecTOo — 4B
4 mecTo — 4a

5- e ki1accehl

1 mecTo — 50
2 MecTO — S5a

6 — e KJ1aCCHI

1 mecTo — 62
2 mecTO — 60

7 — e KJIacchl

1 mecTo — 72
2 mecTO — 70
3 mecTO0 — 7B

8 — e K1accowl

1 mecTo — 8B
2 mecTO — 80
3 mecTO — 8a

9 — e KJaCCHI

1 mecTo—- 90
2 MmecTo — 9a

10 — 11 — e kIacCHI

1 mecto — 10a
2 mecto — 11a
3 mecto — 1106




